
5145   Interlinear Index Study

5145  MAR 014 005 For it might <1410 -dunamai -> have been sold
<4097 -piprasko -> for more <1833 -exetazo -> than <1883 -epano -
> three <5145 -triakosioi -> hundred <{5145} -triakosioi ->
pence <1220 -denarion -> ,  and have been given <1325 -didomi ->
to the poor <4434 -ptochos -> .  And they murmured <1690 -
embrimaomai -> against <1690 -embrimaomai -> her .
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5145  JOH 012 005 Why <1302 -diati -> was not this <5124 -touto -
> ointment <3464 -muron -> sold <4097 -piprasko -> for three
<5145 -triakosioi -> hundred <{5145} -triakosioi -> pence <1220 -
denarion -> ,  and given <1325 -didomi -> to the poor <4434 -
ptochos -> ?
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